TBREE

MR- TR KEFIERRE K

R #iaR:1/2,500
=
o
3.4 - 137 4::> Zi;>
3 Er 7
i\j O G0tz e
5 5%?% : <::>
— = Lo (1)
R : (2)

BARRDIEE |REMNORE
HIEFEEE  132465A661103014
RIS EER
AT TE JEMT = ISR R

B B

#&R :1/50,000

e
N

S ;

LU N S
BB T 4

X & & R A

| | IMREERRE

- IBRKERNERRE (BPRRESES) —

BEIZEDHAM00KN/ ME A HR B,
T wMENemEBABRE

| | ENLS DR
B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

Of

TEE

100 m

1/2,500

1/ 2

ERE




TEFOAODKESS—E

(BEEE) BAWRZRDIERE |RERBOBHE
= 5 N = (- pa =
;}Lt_“améwg'i%ﬁozj’&lfmﬁﬁ'“M'Z”\ HRHEES  |132465661103014
ADRSREDHA -Eiﬁﬁwﬁj{ﬂ_’&ﬂ'\bfb %o _ — —
(A) FBEN= KB SIH100kN/ MERBZ ZRBDFHEEND H DR KIEKN/ M) (BE) #IBESMNImEBZLXEDOHIBED DD RKEKN/m) 2 THXERARUZEBNICSHIREEHT S ik i
-~ 8 2 ERANIE = mz e A = ENIE m &3 3 - L U EE5m7s — s p— -
B) WA LHRENI AT SBEDLAEDESMm) () OPLERENI AT SBE D LRFDEMm) E%\W@E’;ffgfﬁim@%%i’t J_“ﬁ@f‘*%& et AT =BT R
(C) BBEN= &% 71 A5 100kN/mi LI R O R DI E D A DB AMEKN/ ) (G) HHE A 3mEL T DRI D 11D B AEN/ ) EMBRGE S HHREBRESHAI<RA T
D) )N LZEEMIHEATHBANLIEZNDES(m) H) QA LZEREYI AT IBANLEZDES(m) DRGFHENCHEET HENTED,
HETHIYTHAOLIRZEDOHORES 2EMADTEEDHDAES
RAEE % =
(A) (B) () (D) (E) (F) (@) (H) A) (B) ©) (D) (E) (F) (@) (H)
1) 161.7 1.0 99.9 1.0 16.6 3.3 15.2 3.0 161.7 1.0 99.7 1.0 16.6 3.3 14.8 2.9
(2) 161.7 1.0 99.9 1.0 - - 14.8 2.9 161.7 1.0 98.7 1.0 - - 14.8 2.9
( 3) 152.1 1.0 99.4 1.0 15.6 3.1 15.1 3.0 152.1 1.0 96.9 1.0 15.6 3.1 14.8 2.9
( 4) 123.0 1.0 100.0 1.0 - - 13.7 2.7 123.0 1.0 99.6 1.0 - - 13.7 2.7
( 5) 120.5 1.0 994 1.0 - - 114 2.3 120.5 1.0 994 1.0 - - 114 2.3
( 6) - - 994 1.0 - - 11.2 2.2 - - 994 1.0 - - 11.2 2.2
(7)) - - 88.4 1.0 - - 94 1.9 - - 88.4 1.0 - - 94 1.9
( 8) - - 93.6 1.0 - - 13.9 2.8 - - 93.6 10 - - 13.9 2.8
(9) 117.7 1.0 99.6 1.0 - - 13.8 2.7 117.7 1.0 98.5 1.0 - - 13.8 2.7
( 10) 134.0 1.0 99.8 1.0 - - 12.0 24 134.0 1.0 96.9 10 - - 12.0 24
(1) - - 72.7 1.0 - - 11.1 2.2 - - 72.7 10 - - 11.1 2.2
(12) 1445 1.0 98.8 1.0 - - 13.9 2.8 1445 1.0 96.8 1.0 - - 13.9 2.8
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